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Question Number : 1 Question Id : 6404118321 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

In Herbarium sheets. label provides information about
Gy8000 £eS, HBesy Hdep DB HBOD IIFBO GOOE.
Options :
vegetative and floral characters of the plant

% g @y 80D Hdakn Fi) vfmre K000

habitat, distribution. root system and height of the plant

WP, DG, BEFHY HocH T I HBoD

2. % N



date. place of collection. conmmon name and family of the plant and

collector’s name

86, Herdy 180D JrTEED S0 TS T, HeNowIH HOGH Blaleany
v =6

All plants specimens preserved.
4% gE5tSnds ol Jne Smaren

Question Number : 2 Question Id : 6404118322 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Among the following fungi. which are placed under class Dueteromycetes of
Fungi ?

(Alternaria, Aspergillus, Mucor, Claviceps, Penicillium, Trichoderma,
Colletorrichum, Ustilago, Polvporus, Puccinia, Agaricus, Neurospora, Albigo
and Rhizopus)

& (Bots m)S Bopred® “tyStERRAT” #5188 Bohs 3dojzren

(e50 0801, ei5)0u8, 755, TR, DAVEADD, @ﬁ E}ov §’e—“eﬁ%q¢ 3, cnmmd

e

FOTEG, HEDate, wrrbEs, a"—'—ij‘(ﬁ; Tooe, eep/® Sbain Fa%0)

Options :
Alternaria. Trichoderma and Colletotriculun

ogt)0air, BEEoy Hooh TS BeSH
1.

Alternania. Puccinia and Neurospora
@Egﬁcﬁ@i}“, éé DA Sboho 6630"""“?15*00

Mucor. Albugo and Trichoderma

Sareese, ega;-qe:_ﬁﬁ L0c |BSaoy
3% ' = ;

Ustilago. Polyporus and Agaricus
A% cf:o@&“}ﬁe._ SrOFEH SiBcH errdsh

Question Number : 3 Question Id : 6404118323 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Choose the incorrect statement among the following

[BoBards® $BzeD S Ngveleintels

I The present era is called “Golden era of Biology™
[ESESVEL JevIVIA LMY é“ﬁaﬂ:ﬂma R080800R RPaiio wotrd.

1L Sexual system of classification was proposed by Theophrastus.
HATEEER Bohs 5086 (HBrHOTD.

III.  Study of Amplibians of plant kingdom are called Bryology
aﬁﬂ;g_trcaéoé‘c‘ﬁ- ssgiohdore HBod) etiiahido Ao ) [pares wotrd.

IV.  Recycling of nutrients takes place by parasitic petroplants.

Soeds B Fnen DA Dorgee HIG &aho Frow.

Options :



1. ®
L % ILTI
1. IV

3.8
IL IV

4.9

Question Number : 4 Question Id : 6404118324 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Assertion (A) : Algae will increase the level of dissolved oxygen in the
immediate environment.

D80 (A) : Bderen amd Sty DKo srerdlmod’ EBAN &S Eeniy
20NEP0N

Reason (R) . They form the food for aquatic animals.

=m0 (R) D @) 98 modPes wiBtore Gotron.

Identify the correct option from the following
Bob a8 X3S nYseY HBoTos
Options :
(A) and (R) are true. (R) is correct explanation for (A)

, @)ook (R)$D5D. (A)8 (R) $58 2366
1.

(A) and (R) are true. But (R) is not correct explanation for (A)

(A) 8cw (R) 5959, (A) & (R) 585 956w weh
2.¥

(A) is true. but (R) is false

s x (A)3030, 50 R) 5050 50

(A) is false. but (R) is true.
L x (A)SB56 s, 50 (R) 5350

Question Number : 5 Question Id : 6404118325 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Choose the plants from the given list which have hypogynous flowers.
Mustard. Cucumber. Brinjal. Plum. Rose, Peach. Guava. Sunflower and China
Rose.
8o =S Inge H8I6° “@od?@é?gé“ Dimen So I oD?
waren (Mustard), Hoeb, Hoerd (Hoif), 5
H0dn Bre'E (Ghomd)

Options :

S, Heed), 53, e, Srtheeoso

Guava and China rose

eosh shBain DoebE (Showed)



Mustard. China rose and Brinjal

) o BaFED, DordCE SH0ahn Horf

Plum. rose and Peach

2D, 858 (Heed) HHbdn $H8

3.8
Guava. Cucumber and Sunflower
s, DHoab bon Srgsrogo
4. 8

Question Number : 6 Question Id : 6404118326 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Three plants. Mustard. Calotropis and Guava. are collected. There are 30 nodes
m Mustartd. 30 nodes in Calotropis. 25 nodes in Guava are present. Find the
number of leaves put together in all three plants ?

waren, BT HOCH e 3 Gvre Ko DEbomin. TS e G 3

o - o S = - o 2 ol
Seanaen, aaﬁifue‘i” 30 Sewaden S0OCiD =2 nﬂyéé&'? 25 Beaa)en G700, WonHG. &
2
od

=]

(=9
e Gere dngod® 898 o) Sigeen Gotron ?
Options :

140
1. ¢

160
2.8

_— 180

4.%

Question Number : 7 Question Id : 6404118327 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



Match the following

(Bob aeAd edNthin

List-T
565 -1
A) Vivipary

B) Parthenogenesis

odgaddo

C) Meiocytes
AR
D) Perenmals

2570 85D

Options :

A-TI, B-I, C-III. D-IV
1. #

A-TII. B-II. C-IV. D-I
2.8

A-I. B-IV. C-II. D-III
3.

A-IV. B-IIL. C-1. D-II
4. 8

Question Number : 8 Question Id : 6404118328 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

D

IT)

I1I)

V)

List-II

563 -1I
To lower the environmental stress and
to establish plantlet
2BSTCY e.80 SRoUNErAS Shoan
Dy IFo %;ééé}
In diploid organisms specialized cells to
undergo Meiosis
hoHRes €980 & (BT Swren
SahEts desn Sdman
Bamboo flowering at the end of the life
ot £2E D6 BIE Hiyaron
Development of embryo from
unfertilized female gamete
Pobsteo 3ot & Hoari Hxo

Hod BoZo e



Match the following
(BobzRR eedddohsim

List - 1 List - II
(Pollination) (Mechanism)
S5 -1 %S - 1T
(Soer BosEEm) (S5m0 BES0)
A.  Xenogamy [.  Exposed anthers and stigmas
) HEDST Soddw Eoren, Eer(rren @ s=g&o.
B.  Ophiophily II.  Genetically different type of
2 5&PO pollen grains
22 E&’:éom 2D Bore Soeirmes
C.  Chasmogamous III. Flowers do not open
&“Ja’ae:e:é Rod@rN Dapen Dapyeo HEoDD
D.  Cleistogamous IV. Pollination by snakes
HoE oG a0 e e ST HosdEn
Options :

. A-IV, B-11, C-III, D-1
o AL EB-HLCT DIV
A-IL B-IV, C-1, D-III

A-II, B-1, C-IV, D-III

4.%

Question Number : 9 Question Id : 6404118329 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Identify the floral formwula of the following characters.
Ebracteolate., United perianth. pentacarpellary syncarpous. zygomorphic.
superior ovary. bisexual.
Bob egmren 583 H3)) JoSso HhoS0d.
SEES) :"ée’wéo Doding HoNEe, HodPetd Hodsngo, g8 A Bdaindo, 1;“.‘53(‘5
woredoho, fdoriso
Options :
- i A 5 +
Ebl K5) A(5)®. O
1. ®

Ebil, (P).Gys).% O

2.¢¥



e EWiLCs).Gis) % o’
Ebr. (K).G;) ©. 0
4. %

Question Number : 10 Question Id : 6404118330 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Statement I -  Lysosomes were found to be very rich in hydrolytic
enzymes.

woddn - 1 BREESes” TE'BAE doBMw SHYQT sotraw.

Statement II -  These enzymes are optimally active at the basic pH.

woddn - 1I & Jo@5en 56 pH 5§ angshore HATaran.

Identify the correct option from the following
Bod &&° 573 pYseRY rHBoSod
Options :
Both statements I and IT are correct
| & ©OTD I so8ain II 5882,
Both statements I and II are false

wozeen [shbdsn IIH55H58 sedh.

Statement I is correct but Statement II is false
wod:in 1358358 =0 138356 seoh.
3.

Statement I is False but Statement IT is correct

. eodsn 125056 seth, =20 11 2086,
4. - -

Question Number : 11 Question Id : 6404118331 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Choose the correct statements among the following

Boh arRE” VOGS arapgos HBoam.

I Quasi-fluid nature of lipids enable lateral movement of proteins.
of (655 HBS° & DBE 6, 4S8 emde ) StD5eH den BOAK06.
II.  Mitochondria and chloroplast constitute endomembrane system.

FoeFsro|Bah SO FOSTemHLn WOSESS $5BH6° grreen
III.  Phosphate granules are not membrane bound bodies.
@T"f:gé‘j_ Beavayen Ses(esigos’ O DPJS BTN Trden IPDH.
IV.  Centriole is a component in all cells
20(B@TS o) Swrod® grrsn
Options :

| % landII



I and III

II and III
3.8

III and IV
4. 8

Question Number : 12 Question Id : 6404118332 Question Type : MCQ Option Shuffling : Yes Display Question Number :

Correct Marks : 1 Wrong Marks : 0

Match the following

(ob 708 eedithan

List-I
65 -1
A) Glycosidic bond
N&*288 aogsm
B) Hollow woollen ball folding

Eoorrad) den w08 s

C) Enzyme
OB
D) Esterbond
256 @otio
Options :
A-TI. B-1. C-IV. D-III

1. ®

A-IV, B-IT1, C-1. D-II
2.9

A-IIL, B-IL. C-I. D-IV

A-TV, B-1. C-IL. D-IIT

List-IT
588 -11
I) Trypsin
2
IT) Bond between phosphate and

5™ carbon of sugar

f:rf%:.é.xs HS0EaHIn, SO0 IHESEY

5 % 88308° Send wogo
III) tertiary structure of protein
BrAS |@m&ch ErHo
IV) formed by dehydration

8 s Ahde Tcine

Yes

Question Number : 13 Question Id : 6404118333 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Arrange the chromosomal events of meiosis in a sequence.
Sahstn Defasd® (B RrE Snes® $bn Shen SmD (S50 eEn

iL, Disappearing of nucleolus
Soltisodsn E555H
1. Appearance of recombinating nodule on chromatids
EErdEn D Sodiras SaDe a8t
III.  Terminalisation of Chiasmata
Sairime wo8H JBLsH
IV.  Pairing of chromosomes
(B 3ra®smen esdenre D)6
V. Dissolution of synaptonemal complex
RTEPAmS Soffio SHiHe
Options :
ILOLIV.ILV

1. ®

I V.IL IV, IIT

IV ILIL V. I
3. %

IV.IL V. I, I
4.¥

Question Number : 14 Question Id : 6404118334 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Match the following
[Bof TR0 e2ddidaain

List-1I List-I1
383 -1 3835 -11
A) Mechanical support at young stem I)  Sclereids
and leaf petiole thESeren

Sdsomrds, HEHoTs

airo|SE srdsn

B) Cells in fruit walls of nuts II) Stem vascular bundles
205 FOSSrodtD Smren SPolTedse SHosmen

() Cells absent in primary phloem IIT) Collenchyma tissue
[Frgans SENE Smereod® 82 Sepren Srot’ns Swareo

D) Endarch primary xylem TV) Bast fibers
D088 (D TrdIa) 9 (FREEDE Trthey 538 Bresreaetien

Options :

- A-TIL B-IL. C-IV. D-1



A-TI, B-IV. C-L. D-IIT
2. %

3 ¥ A-TII, B-1, C-IV, D-IT

A-I. B-IIL. C-IV. D-IT
4.%

Question Number : 15 Question Id : 6404118335 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Assertion (A) : Trichomes help in preventing water loss due to
transpiration.

2eydo (A) (B8 Do erdh@)Eo owoe =60 08 I w05yEos
S heron.

Reason (R) . The specialized cells near the guard cells together

constituted stomatal apparatus.
=m0 (R) 1 UEE Seren o DG £06 9500GE Sered 59D H|ESold
20880 wotrd.
Identify the correct option from the following
Bod sBE° TBS nYseY HBoBd
Options :
(A) and (R) are true. (R) is correct explanation for (A)

(A) S8asn (R) 5852, (A) @ (R) 585 9566

(A) and (R) are true. But (R) is not correct explanation for (A)
(A) 0605 (R) $852. (A) & (R) 885 D:8m s

2.
(A) is true. but (R) is false
(A) 036, =2 (R) 4056 =th
3. %
(A) is false. but (R) is true
L % (A) 5056 =h, =0 (R) #0356

Question Number : 16 Question Id : 6404118336 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



Choose the correct statements among the following :

0HOE HBFHD TRaes HHoHE.
- 21 '

I Phellogen made up of narrow thin walled rectangular cells.
S SYM S EpsSmred HOR AYSHRPSE0S” 6F) S Swro
88 sotnol.
1. Soft Bark 1s formed early in the season.
Sy BEH BHHHS® Swothrr AYEHOB.
III.  More xylem vessels with narrow lumen are called late wood.
$66c;§\) msedsen, a-é;c;aﬁ rEthargren e arid) SndEths) woeri.
IV.  In isobilateral leaf. mesophyll is differentiated.
Sbnargbgod’, Higroddo DEES0 Jok GoLnob.
Options :
L Tand II

II and III
2. 8

III and IV

4% Iand IV

Question Number : 17 Question Id : 6404118337 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Identify the plants with the following characters in a sequence,

(Bob ofmren o InKHoH ST (E5H06° MHboSod.

A) Annual plants found in dry weather
H [Eromed BN DG zeen

B) Submerged in water without rooted in mud
NBE" ZmAh RIS T GorHOT Gotron

C) No contact with soil. present on surface of water
Sp8s8° Jomoto THowe I &N0E0R GOEroD

D) Perennial plants to withstand prolonged drought conditions
E)choé')é 2P H0RHOD SLHT aroTSteD

Options :
Tribulus, Utricularia, Vallisneria, Casuarina

(Seyel, a@sydoatr, sdSI0atr, swaxdar

1. %
Casuarma, Salvinia, Hyvdrilla, Tribulus
sredar, SREhdatr FRGeR. (Sayed

2. % .

Tribulus, Utricularia, Salvinia, Casuarina

, (Saxed, a“bjiéﬂé%;?éf@oﬁv, rsdate, swedae
3. - =



Utricularia, Salvinia, Tribulus, Asparaguis

ol SEyTsatr, Fdatr, [Bayed, eho D
4%

Question Number : 18 Question Id : 6404118338 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

One acre of trees anmually consumes the amount of carbon dioxide equivalent

to that produced by driving a car for 26000 miles. The same acre of trees also

produce enough oxygen for how many people to breath for a year.

a8 S0 Hrfen 26000 g (Hodreing® dnde TD COye8 o grE

Jsren SosETsre0d® DAGFN0DHT CO, DenH HHrSHn. «i Dore ad 860

v Ty SRR Here Dol Joé Hod FTRPOTErIS SRS edes efinod ?
Options :

2 human beings for one vear

BE0 rdden a8 Hokd o

10 people for one year
, % 10 00b Hen a8 JoHEso
18 people for one year

18 hobd fhen a8 Ff;oaié;éo&i:
3. B "
one family for one year

8 Sénoman a8 E’:oéé@fﬁoé}
4.8

Question Number : 19 Question Id : 6404118339 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Assertion (A) : Transport of plant growth regulators are always strictly
polarized and unidirection.

Ao (A) ; Sn¥e Hse dabo@ste Sarwe RO Regnos®, &8
8386 estorbsod.

Reason (R) :  Organic and mineral nutrients undergo multi directional
transport.

550 (R) © D0lHoD, Pl DNsren wRs Hdos® Sore Sotheron.

Identify the correct option from the following
Bob &6 XBS wYseY 1HBoBod
Options :
(A) and (R) are true. (R) i1s correct explanation for (A)
(A) 5Ba0 (R) 5859, (A) 8 (R) 5835 D566

(A) and (R) are true. But (R) is not correct explanation for (A)

, x (A)0am (R) G052, (A) 8 (R) 503 956w sotH



(A) 1s true. but (R) is false
3 % (A)3D58, 52 (R) 5356 oo

(A) is false. but (R) is true
4 v (A) 856 sk, 502 (R) 5856

Question Number : 20 Question Id : 6404118340 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Choose the correct statements among the following

BoBaTRE® $SB@S arsvR) DO

L Movement of water through apoplast involves crossing the cell
membrane.

oFarg 28 Bodo SedSo 0 TRTE etiih&od.

II. Movement of water through apoplast is dependent on the gradient.
wifarg A8 Sodhn FEinded egrsHth®ob.

III.  In symplast. water travels in the cells through plasmodesmata.
R0sFR Soth St Seso Swro el ealtSely wogre e atkirhéol.

IV.  Transpiration pull has lesser significance than root pressure for water
transport in tall plants.
28D TIwEed® 36 bEdo Son arifEE oo 58 fi‘gatoﬁ_ﬁ{ﬁc‘aoé* CEVR
[Erainggs &ol.

Options :

e LI
,, LI
L LIV
L« LTI

Question Number : 21 Question Id : 6404118341 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

No. of ATP. protons and electrons required for formation of 6NH, molecules
m biological nitrogen fixation

25 Hleead é;::z\’) oxoe 6NH, emshen 280 sods ATP, grerd hiain

e Ls;::ua, Dogr

Options :
. % 8.816
16. 8. 8
2. ®
24,24, 48

3. %



48. 24,24
4.¥

Question Number : 22 Question Id : 6404118342 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Loss of chlorophyll leading to vellowing in leaves is

DSOS Sy Troe DiEren DDHDHTOrHH 570 080

=

Options :
Chlorosis

.¥

Necrosis

S 3625

Bronzing

(emo&0on

3. %

Die-back

Fey
g
]

Question Number : 23 Question Id : 6404118343 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Choose the correct statements among the following

[Bob PAE° HBS ampmgen rHBoSod

=

I In exothermic reactions ‘P’ is at a lower level than ‘S".
&3 DarSs Sad ‘S San P #5)5 Srand® soenob.

II.  Enzyme activity can be affected by temperature etc. with alteration of
tertiary structure of protein.
3 & 8ah Joywed) Sty Dabeo ouoe e8NS Fon, J0ED Bairdeds
(Herddo Daron.

III. Low temperature denature the protein.
SEpD SEPNSSG TSy Damgrdstno Do,

IV. Ligases can remove the groups from substrate
B oy ST Hod Sumdred Soho.

Options :

Lo III

, % OLIV

I IV



Question Number : 24 Question Id : 6404118344 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Phenomenon that describe the first action spectra of photosynthesis

éfjse:aaéé Hodirr|8oh Jndd »,“Socéézeaoéj HBoDI tfé‘;ﬁcg}o“w&-éw

L Hlumination of Cladophora
SEPor 3 08 (35950

II.  Detection of O, release using anaerobic bacteria
waratn er§daire® Dihre edy 0,mBo800

IIT.  Accumulation of aerobic bacteria in red and blue regions of light
6, VD srode ¢ arainHErs ajvéCcf*w BosoHhdo

IV.  Cladophora in the suspension of anaerobic bacteria

TOSnEErE arSbaire eBuonRod® Bodsd seEoe

k“

Options :

Question Number : 25 Question Id : 6404118345 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Arrange the following intermediate substances of RUBP regeneration in the
correct sequence
RUBP 5:58¢866" 086 sireins Huroreid $50 eoms [E:D:ns® eddod

I Ribulose -5 Phosphate
g™ -5 g \ép \eS
II)  Erythrose - 4 - Phosphate
O - 4 - 7S
IIT) Fructose - 6 - Phosophate
$EH-6-ar w.w
V) Sedoheprulose - 7 Phosphate
2E ™S - TR
V)  Ribose - 5 - Phosophate
38 - 5 -
VI) Fructose 1. 6 bisphosphate

@_.::um]. 6€Jr:l ul r\fp!\

Options :



LV, IV, VLI IIT
1. #

I VLIIL IV, V.1
2. ®

I I VE IV, Vo T
3. %

VLI I, IV, V. 1
4.

Question Number : 26 Question Id : 6404118346 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Choose the incorrect statements among the following

[BobiardE® 5050 argmgen HGoos

Electrons from NADH produced in the mitochondrial matrix are oxidized
by complex II.
DefseolBor Sr@56" NADH ed)56m 308 DoEpHON DS BoFgw
- D oxoe adhrhaEob.

II.  Ubiquinons oxidised to Ubiquinol by receiving reducing equivalents
from complex L
chrd&FS edEtno oo arA&TST Srdto Hodfo- 158 gohssn
Heoseerd ((feroo Hud extibeéob.

III.  Ubiquinol oxidized to Ubiquinone by transfer of electron to complex

1I1.
&S fob Crd&TET ©)56n DohIHn dugde: o8 18
269 eHaran.
Options :
Tand I
1.
II and IIT
2.8
I and IIT
3. %
TIT only
4. 8

Question Number : 27 Question Id : 6404118347 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Choose the correct statements among the following

Bob A6 KGNS Egmed oD

Options :



ABA plays an important role in stratification.
L—Dé‘aqéo,,u St536° ABA (S5 ar(@ 58r0i.

Decapitation result in growth of lateral buds.

., 3y (’5ﬁ (S0 POEorr PR e BEDGSe BSHEE.
2.

Kinetin naturally occurs in the plant.

- 3585 Inged® Sirmore soG Y.

Vermalization promotes flowering by high temperature.

SEPEAS 25 SSPS S HEEFHED (20D
4. &

Question Number : 28 Question Id : 6404118348 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Match the following

e ichain
List-1 List - ITI
S5 -1 St - 11
A, Beggiatoa I.  Photoheterotrophs
afarir 508 S65EhE5n
B. Salmonella II.  Saprophyte
PEYIeT B8 hdcehvilel
C.  Rhodopseudomonas III. Parasite
G E I ArTd SoeEs)
D.  Bacillus IV. Chemoautotrophs
SR BRaDS drabodhgsin
Options :

A-II. B-TIT, C-I, D-IV

A-II. B-1. C-III. D-IV
2.8

« A-TV, B-I, C-III, D-II

A-TV. B-I1I, C-I. D-TT
4.

Question Number : 29 Question Id : 6404118349 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Based on ICTV systeni AIDS virus belongs to the genus
ICTV s3ssore AIDS 365 & (£er88 30630

Options :



Ritro viridae

ticafole
1. ®
HIV
_— FS AT
Lentivirus
3@ BoHIEH
viridae
4 % 6T

Question Number : 30 Question Id : 6404118350 Question Type : MCQ Option Shuffling : Yes Display Question Number :

Correct Marks : 1 Wrong Marks : 0

In which of the following crosses. both phenotypic and genotypic ratios at F,
generationare 1 : 2 : 1
& (806 HosBrod® TS F, 86506 §)dites Hoamm eyt )8 1: 2: 1re

0800k

I) Red flowered plant crossed with white flowered plant in snapdragon
%ﬁlmrﬁ-ﬁ:‘ Q0D Daken o Fng HcH I P THe D

= e

Ho86m

II)  Tall plant crossed with dwarf plant in garden pea
Foowde® S Tng) HbaH T8 Ing) S Hostwo

III) Plant with dotted seed coat is crossed with spotted seed coat plant in
lentil
oSS TnHS® D DEH 555 Ho Fng) Hdom DI DES EHIHw o
Snge Hgy bR Hostes

IV) A homozygous plant is crossed with a heterozygous plant
Dshoinies g boin Dishonie: S e ednd $osdn

The correct answer is

2B Gsrpeho

Options :
LI

T, IV

I 11
3. ¥

Yes



Question Number : 31 Question Id : 6404118351 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Match the following

1808 &0 eefdtan

List-I List-IT
B85 -1 365 -11
A) Hugo de vries I) Chromosomal theory
sogre BIOD E3ra* Se Rrgodo
B) Sturtevant II) Linkage
el Serors
C) Morgan IIT) Mutations
ST &:&$D58Teen
D) Sutton and Boveri IV) Gene Mapping
568 Sdc FD asiingEeren

Options :

A-TIT, B-IV, C-II., D-1
1. ¢

A-TIT. B-1. C-IV. D-II
2.8

A-TV, B-III, C-I, D-II
3. %

A-TI, B-TI0, C-I, D-IV

Question Number : 32 Question Id : 6404118352 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Identify the wrongly matched one
2bsed 2o hBoiiod
Options :
%174 bacteriophase - 5386 nucleotides in DNA

$x174 er86GEr S - 5386 SrecddiraGen (DNASY)
= = i

1. %
Bactriophage Lamda - 48502 Nitrogen base pairs in DNA
erS0@r 98 eroer - DNA &° 48502 8(e:d) grfedfen

2. %

Escherichia coli - 4.6x10° base pairs in DNA
2.5°8 - DNA 6°4,6x10° s:tesefen



Human cell in haploid condition - 6,6x10° base pairs in DNA

SPEH Swod® DEPBLELH Sogg - 6.6x10° Fbaser Ko DNA
4.v

Question Number : 33 Question Id : 6404118353 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Choose the incorrect statement among the followmg sentences
[Bob adS® K0 amgm HBOWED
Options :
The small opening of DNA helix where replication occur is replication fork.
DNA &5dwo 69 a0 Do =65 DY FHOFoS® Hegs ebh @D
L% E8EBF0D otrd.
DNA dependent DNA polymerase catalyse polvmerisation from 3' — 5.
DNA scr6$ DNA 2005506 50456 3' — 5' 686° 2610

The template of DNA strand with polarity 3' — 5' is leading strand.
3 % 3' = 5" gciradeso DNA 53 Eiorddhd &°S

DNA dependent DNA polymerase catalyse polymerisation from 5' — 3'.

L% DNA w68 DNA 959508 Sodstn 5 — 3 &8 QBBeow.

Question Number : 34 Question Id : 6404118354 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A group of enzymes that remove the mucleotides from the ends of DNA and
another group of enzymes that make cuts at specific locations within the DNA

molecule are respectively - - - -

i}

Q) Ssre wBey DNA 5o Hod S8 God &ofzron HOGH HOFY

DNA &° 283 Bdered® $hoden sthhsron. 0 S - - - -

I) Hydrolases II) Dehydrogenases
TS &rteds
III) Exonucleases IV) Endonucleases
B s aheen 206 S 8aheSen
Options :
LI
1. ®
I, 11
2. %
IV. 10

3 8



4V L, IV

Question Number : 35 Question Id : 6404118355 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Methods which help in the insertion of recombinant DNA into the host

= o " s . o T o
odgon Snod 8 Hiciodrasd DNA D $9)0dced8 EE’CE;E E3een

L Selectable marker
$6eo Dabis SrGb
II.  Disarmed pathogen vector
¥8 &0 BisD arirseen
III.  Boilistic method
a@rOYE 558
IV. Micro injection
g wodBses
Options :
|« LILII

" II. 10T, TV

LI, IV
3 8

LI IV

Question Number : 36 Question Id : 6404118356 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Choose the incorrect statement among the following sentences

(Bod gpied” HEse0 AR HBohn

I) Human Insulin is made in fungus
BHolgre Do) IS BdT Saird

IT) Insulin DNA sequences are introduced into the genophore of E.coli
=005 DNA [g5rod .8 B BTare’®s® Hasaegt

IIT) Recombinant E.coli produce insulin chains
558 Hod@red .857F mdS Fenbes Said Toke

Options :

| LTI

) % I only

I only



I, 1T

Question Number : 37 Question Id : 6404118357 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

It is not apprehence to towards biosafety of genetically engineered crops
ey Bmo22dBON 80D Hot IwHe So £ ¢dee Sy Sg Sord FO) eskiren
Options :

Transfering allergins to human

- SPIHes® eedl) nbd
Harmful effect as biodiversity
25 POG0S FISE [HerHEn
2. % )
Change of fundamental nature of vegetable
Eromrahe STOSHR Sdradd® Srdnm
3. &
Unauthorised use of bioresources by multinational companies
BsmY er&cH So2den o5bsssorr £ DD DIETFRODHE
4.

Question Number : 38 Question Id : 6404118358 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



Study the following lists
S (£od =8 eicaddo Scbhod

List I (variety) List IT (Insect, pests, resistance)
$%% - I (8%50) 563 - I (Be¥, Higen, RE°BES)
A. Pusa Gaurav I. Yellow Mosaic virus
S TES S5y D) IweronE JEH
B. Pusa Sem 2 of Bean II. Stem and fruit borer
PR 2 (D%H) SPossm, Hoin oI
C. Pusa Sawani of Okra II. Jassids, aphids and fruit borer
e daR (Bod) 2t Ben, 2HGen Hodcin Herel EFOTD

D. Parbhani Kranti of Okra IV.  Aphids
SR (cod (Jok) D3Gen
V. Nematodes
The correct Match is
28 wond =
Options :

A-V,B-1I, C-1II, D-1I

1. ®

A-TIL. B-~IN, £=1L D=]

2.8

A-IV, B-1II, C-1, D-II

3. %

A-IV, B-III, C-II, D-1
4.9

Question Number : 39 Question Id : 6404118359 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



Match the following

Bob & exddadBchain

List-I
(Comercial products)
565 -1
(e odden)

A) Detergents

List-IT
(Microbial products)

365 - 101
{;ﬁ:ug&é@eé DGAID)

I) Cyclosporin-A

SEAGY DEFET A

B) Bottled juice IT) Streptokinase
dred® Sof Bren ReEle

C) Clot busters IIT) Pectinase
e &ohodhe DEIE

D) Inmwno suppressive agent IV) Lipases
Br8°s58 alrsolio sedom Baden

Options :

A-TV, B-III, C-II. D-I
1. ¢

A-T, B-I, C-III, D-IV

2. %

A-TV. B-II. C-II1. D-I
3. %

A-TV. B-1. C-TII. D-I
4.%

Question Number : 40 Question Id : 6404118360 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Methanogens
S ey
Options :
Anaerobics used to produce methane from cellulosic waste

epd’d Sored RON warcin @r§oatr HPSDH HGBHH
1. '

Anaerabics used to enrich the nifrogen content of soil

) % H856° J|E=d Botrohod warain erSdairen

Earthworm helps in compost formation

S0y Soirbe® ardarine DOGr0
3. &

Fungi living in symbiotic association with plants

L% anges® 58 Sordddo don Dolgren



Zoology

Section Id : 640411179
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 40
Number of Questions to be attempted : 40

Section Marks : 40
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 640411179
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 6404118361 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Find the mismatched pair.

Bob 26° H50°D a8 HBoHHw.
Options :
Alpha diversity - Diversity within a habitat
L% e iV ne) - @arod” inEo
Beta diversity - Diversity between ecosystems
Hew SDo - DAL wHBem ::;’5& sy G0
2. &

Gamma diversity Diversity at the genetic level

5 esse 30 - m.rj:::‘;é};oxét Do

Species richness Number of species in a given area

-~ & " P °
8 SaEs 283 (Frodod” 606 erde Homg
o) e B B

Question Number : 42 Question Id : 6404118362 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
It is not considered an alien species in India
56 gRES0E Store pISSE 8 5.
Options :
Lantana
| & CROEEEE
Nile Perch
=5 =B
2w &™)
Parthenium
S s Jefato
Echhornia

m =1
ws*Odim
o

Question Number : 43 Question Id : 6404118363 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



Assertion (A) . Arthropods are schizocoelomates.

28 &o (A) : @@%Em DeFE B8 HHE Epen.

Reason (R) . Coelom 1n arthropods is formed by splitting of
mesoderm.

=830 (R) : @LS;%E@@& Sogrso HO €88 Hirdo D LE0s.

Identify the correct option from the following
Bod =&s° $B% oiys=Q) HBosos
Options :
(A) and R are frue. (R) 1s correct explanation for (A)
(A) So8ci» (R) dzzo. (A) 8 (R) 885 D5%e
1. ¢
A and (R) are true. (R) 1s not correct exlanation for (A)

(A) $8c5 (R) dazo. (A)2 (R) $8% 9580 =

2. %

(A) 1s true. but (R) 1s false
(A) eo, =0 (R) Dzzo ==
®

3.
(A) 1s false, but (R) 1s true
(A) Rezo ==, =D (R) =0
4. %

Question Number : 44 Question Id : 6404118364 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Study the following and identify the cormrect option.

1Bod wozred giohido % 0% eyl hbodod.

Statement I Synaptic transmission occurs in one direction from
presynaptic neuron to post synaptic neuron.
wodo I : FEEm Hohoh efSeso o8 HE6E T8 S Hob ety S0

S0 T8 S Pob 56 hsmo FH wHHH0d.

Statement IT The presynaptic membrane contains receptors for
neurotransmitters
wodo II : T8 ofardreods 2000 [rPETseen o0 L6508 SPORERS0 R
S0P 0.
Options :

Both statement I and II are correct

wogeen I spdain I $8:5
1. #



Statement I is correct. but statement II is incorrect

2« @odo I 5856 520 wodo [ 5050 soth

Statement I is incorrect. but statement II 1s correct

wod0 I 58258 s0th, 520 wodo I 5BH0
3. % -
Both statements I and II are incorrect

eozeen I sh8asn II 5052 805
4. 8

Question Number : 45 Question Id : 6404118365 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Neurilemma around axon of a neuron is formed by

FEEes0 g So@seEo héar Jrgboirgd &-(ﬁ;.éé—é’)

Options :
Ependymal cells

0BG Searen

Microglial cells

B ACHS Segren
2. 8

Schwamn cells
3.

Oligodendrocytes
8O BoE DS

Question Number : 46 Question Id : 6404118366 Question Type : MCQ Option Shuffling : Yes Display Question Number :

Correct Marks : 1 Wrong Marks : 0

The following are the names of some non-chordate animals.

808 &Y TS 708 wodHL ) BRPDEEoD.

il Luspongia II. Aurelia
AR cesae eSair

IV,  Taenia V. Wichereria
doate &&36atr

Identify the flat worms among them
O 2eHhs) PHENtoD HBoSod

Options :

Beroe

Fileld
Comvolura

Eohempdr
BT

Yes



L I

I IV
2.8

IV. VI
3.

PR A

Question Number : 47 Question Id : 6404118367 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Match the following.

(B0l Te&O adbdod.

Zoological name
wodaRah THo

A) Pila

=,
T

B) Lepisma

2,30

R

&)

) Daphnia
lagio)lenve
D) Aranea

. oy o
aJO% /0T

Options :

A-M. B-V,. C-L D-II
1.¥

A-TI. B-1. C-V,. D-1II
2.8

A-TM B-V, C-II, D-1IV
3. %

A-TV, B=1L€-L D=V
4. ®

Question Number : 48 Question Id : 6404118368 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

L

IV.

V.

Common name

Tl 50

Water flea
66 &

Spider

Apple snail
B He
Scorpion
Ben

Silver fish

Jod I%

It is the fore runner of thyroid gland of vertebrates

80 S0EYo HEIhered® o|Hos (oot (508) Srarosto TokEok.

Options :



Atrium
2|Hado

Endostyle

woi#b &dd0
2. W

Pharynx
3 % R
Test

gohgo
4. %

Question Number : 49 Question Id : 6404118369 Question Type : MCQ Option Shuffling : Yes Display Question Number :

Correct Marks : 1 Wrong Marks : 0

Study the following and pick up the correct combinations.

=5 -4
T2 J0D

|Bod wozren egiobio

hdode miodod.

S1.No. Classes
S.e. Dgrmren

Features
oD

Examples
amEFden

I Osteichthys

Filamentous gills

Scoliodon

SR8 H0& &P Fwahen e levrg e
IL. Amphibia Sternum appeared first time | Ichthvophis
giohisoren 6643% InBBFOT DGE08. 25T~DE5
L Reptiles Temporal fossae Bungarus
é@;’;@@vaj SogrgraEren avorrss
V. Aves Corpus callosun in brain Corvis
S50 (258) 2E0S® 6% 8o SRS

Options :

% LI

I, IV
3. %

o % LIV

Yes

Question Number : 50 Question Id : 6404118370 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Filopodia are found in this animal
& m0dNE° HESPEST soeron.

Options :



Euglvpha

Lo O

Euglena

e 15—1-5
o) :"""r_‘{lr\-

Amoeba

Elphidium
DO)Babo
L%

Question Number : 51 Question Id : 6404118371 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Assertion (A) . Bmary fission in Euglena 1s called symmetrogenic
division.

880 (A) . atreford® BrerdBR BRYE°ERE Dyud wotrd.

Reason (R) - Plane of fission m Fuglena 1s at right angles to the

longitudinal axis of the body

=80 (R) : divfas® 098 deo Tiro Tn¥) echd ozl
000 wthithdod.

Identify the correct option from the following

Bod =&&° 388 =R HBoSos

Options :
(A) and (R) are true. (A) 1s correct explanation for (A).
(A) H8ds» (R) Qz20. (A) 2 (R) 888 58es.

(A) and (R) are true. (A) 1s not correct exlanation for (A).
(A) 5085 (R) Qezo. (A) & (R) 885 9580 =%

2.8

(A) 1s true, but (R) 1s false.

(A) Qez0, =0 (R) dezo ==¢%.
3.

(A) 1s false, but (R) is true.
(A) Qezo =%, == (R) Qazo.

4.%

Question Number : 52 Question Id : 6404118372 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0

Match the following

|Sob &0 adbdSod

Parasites Infective stages to man

Soepdden SrEB08 ToEmE Bde

A)  Entamoeba histolviia L Sporozoite
Dotdver rgiTsse 5BerontS

B)  Plasmodium vivax II.  3rd stage microfilaria
FEabo Jars) Sorss 64 DIE*2oBcsE

C)  Ascaris lumbricoides III.  2nd stage rhabditiform larva
@508 ewod|sPantsn Dods) 854 0326‘55?55 oo,

D)  Wiuchereria bancrofti IV.  Tetranucleate cyst

&E06aTr &ro(sg S apoltss 5280
V. Gametocyte

Hestes é.:c-pég\’_é £330

Options :

A-TI, B-1IV, C-1I, D-1I

1. %

A-IV B-1. C-V.D-1I
2. %

A-TV. B-1. C-III. D-1II
3. ¢

A-1T. B-IV. C-III. D-1I
4.%

Question Number : 53 Question Id : 6404118373 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Parasite that causes african sleeping sickness.
FPIRE° SBHES wser axH SorEdn o) £3.
L o/

Options :

Ascaris
evle 5]

1. ® =
Tivpanosoma
(BTt

2.4

Plasmodium
ot A
3 % B0 SGabo



Wichereria
4w ©500ate

Question Number : 54 Question Id : 6404118374 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Pick up the wrongly matched pair.
S33pre 63 exdsh rhiodod.

Options :

Entamoeba histolvtica Cart wheel shaped nucleus

L 2oedber FTss - 008 o wsess) Soltso
Plasmodium vivax - Haemozoin granules

. FIHEabo Jark) - Ser&ionS Deoden
Ascaris lumbricoides - Mammillated eggs
@08 evoi@seandD - SranBsE o

3. &
Wuchereria bancrofii - Oviparous
&506air aro(sy - wobie %o

4.4 & =

Question Number : 55 Question Id : 6404118375 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Statement I First pair of wings in cockroach help in flight and are

called tegmina.

wodo I : 5“@05@5&- TBE 8 Sen B0 & mron. HED CalgN
wotrd.
Statement IT  : In cockroach arolium helps in locomotion on smooth

surface and plantulae are useful in movement on rough
surfaces.

wodo 11 . &PHokd® e8'0aho %D deo e, S Kb deo
o KaeRd S8 seon.

Identify the correct option from the following

Bobd =&S° $B% wiTR) Hfood

Options :
Both statements I and II are true.
wozren [ Shadn II $3%88.

Both statements I and IT are false.

woen | SHbdiw I $BR ==:.
2.



Statement I 1s true. but statement IT 1s false.

wodo I $¥BK8, =0 wodo I IBHG ==

Statement I 1s false and statement II 1s true.

wodo [ NB8s ==, == woo Il $oKa.

4.%

Question Number : 56 Question Id : 6404118376 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The last part of the proctodaeum of cockroach is
&0 Gng) arandgo Db griio
Options :
Tleum

| Dirol@%o

Colon
2D
Q

Rectum
Hb5Tgo
3.8

Mesentron

Sugoldo
4, % S

Question Number : 57 Question Id : 6404118377 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Study the following statements regarding osmoregulatory adaptations in
marine and fresh water fish and identify the correct statements.
H50(E Hban 2oL Ide (BerdiSn (EHE ediroTred Sonofod (Bod

00D BFEabdo DD IBED B HBoS0s.

i 5 Marine fishes actively excrete excess salt through their gills.

et e o T - A - AT = ) =
Haim|ed Dden @ dwde ToE o6 esmred Dh0aromn.
¢ o) £

II.  Fresh water fishes have glomerular kidney
50208 Tdes® Fdyed Hm@honren sotran.

III.  Marine fishes facing the problem of exosmosis
SSn( dsen ey (Be80es D3R B otran.

TV.  Fresh water fishes have salt excreting chloride cells
$0008 Vden vHwre DHHoD §OE Swrod SDA sotraw.

Options :



I. IT and III

L. IT sh&asn 11T
1. ¢

L III and TV

5w L IIdaim IV

IT and III

T s2bain 11
3. &

I and II

[h8ain I
4. 8

Question Number : 58 Question Id : 6404118378 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Match the following,

(808 =00 a8ntdod.

Pollutants Control
sreniipEo Doho|gdes
A) Particulate matter L Catalytic converter
Beaotis Serrpen S0B85 S50
B) Carbon monoxide 1L Scrubber
o IrTHG b
) Sulphur dioxide IIL Incinerators
Send LﬁCﬁJ"E‘CE gyt aholgren
D) Hospital wastes IV. Electrostatic precipitator
GNS Scoeen QOEPSE [(2DDEBOE
= e e & =

Options :

. A-TII B-II. C-1, D-IV
1.

A-TV. B-1, C-II, D-III
2.9

A-IV. B-II. C-1. D-1II
3 8

A-TT. B-1. C-IV. D-II
4.%

Question Number : 59 Question Id : 6404118379 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

This bacterium convert nitrites into nitrates.

SPSeH JBeveorr 570) er§dado

Options :



Pseudomonas

q.':_ﬂl/rf:.-.cﬁvﬁ
WPl e PedSnd

Nitrobacter

JeSarss
2.¥ &

Nitrosococcis

Je5’estsn
3 8

Thiobacillus
Sarerhof

Question Number : 60 Question Id : 6404118380 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Assertion (A) . QGastric juice plays an important role in absorption of

vitamin B1 s

2480 (A) AT Y AR Bl’ FheeE® w288 8o Swogy &g $EFR06.
Reason (R) . Gastric juice contains Castle's intrinsic factor.
==%wo (R) ;. adddod® =S 50@RQE =80 aoinod.

Identify the correct option from the following
Bod =&&° $B% af=Ry Kfood
Options :
(A) and (R) are true. (R) 1s correct explanation for (A).
(A) S8 (R) Qzz0. (A) 8 (R) 888 £58es.
1.¢
(A) and (R) are true. (R) 1s not correct exlanation for (A).
(A) o8csm (R) Qezo. (A) 8 (R) 888 D58 ==t
2. ®
(A) 1s true, but (R) 1s false.
(A) 220, == (R) Qezo ==&n.
3. ®
(A) 1s false, but (R) is true.
(A) Rezo ==&, =0 (R) Q0.

4.%

Question Number : 61 Question Id : 6404118381 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



Pick up the incorrect match.
D05 28 MHBodod.
Options :
Tidal volume - 500 mL
BES areren - 500 mL

1. %
Inspiratory Reserve volume - 2.500 mL
&I De0dd adtsrmo - 2.500 mL
2. 8 1ol
Residual volume - 1.200 mL
©5ER 05505 rmo - 1,200 mL
3 8
Expiratory Reserve volume - 3.000 mL
4 DEE Densd 3hdHbdrso - 3.000 mL

Question Number : 62 Question Id : 6404118382 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

These structures of human heart are functional in embryonic stage. but are
non functional in adult stage.

FESHD HoBdS® bodtds (SoirdEorr wod, F°¢ 48 (Soirdirdorr eob
JTEIEERR.
Options :

Valve of Thebeseus, Mitral valve, Ductus Botalli.

FEHADD Sarwo, MBS S0, 850 &rd

Foramen Manro. Eustachian valve. Ductus arteriosus.

S % SFFdolgo, CoapHahs Sarto, 58 ©fBGErID

Fossa ovalis. Mitral valve. Ligamentium arteriosum.

'9‘5])

F .08, WS Sartio, HifH0L0 -&9@-5&';3;’30

Foramen ovale. Eustachian valve, Ductus arteriosus.

= = £ = - 5 o = & o < =
SPras euad®, dhraredha Sacto, G855 efbarnD
¥ [+] ey ]

4.

Question Number : 63 Question Id : 6404118383 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



Study the following and identify the correct option.

Bod wozeRs s-cﬁaﬁaﬁo 5 SIeHS =R oBotiob.

Statement I  : The juxtaglomerular cells release renin in response to

decreased blood pressure.

wo¥o | : ¥5h880 SARY) ac?n}ﬁséoéx_wg ¥eren BOSK DHSe
=5 7] Gand o
Statement IT Renin directly acts on distal convoluted tubule, leading

to mcrease blood pressure.

wodo 11 : BOS (BEorr 8r8% Dodds T¥op H5ATB BE SR
b
2otHéod.

Options :
Both statements I and IT are correct.

wozen I Hdcin IIBotir $BKD.

1. ®

Statement I 1s correct, but statement I is incorrect.

wodo I 5888, =0 wodo I 5B ==t.

2.
Statement I 1s incorrect, but statement I is correct.
wodo [ $TS ==, =0 wodo Il $TRG.
3. %
Both statements I and IT are incorrect.
woen | Hedin I SBED ==.
4. %

Question Number : 64 Question Id : 6404118384 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



Match the following.

[Bof 8D ad5550d.

List-T List-TT

A)  Ball and socket jomnt I.  Inter carpal joint
20BAT, don oS8 Sdaots e

B) Hinge joint II. Between humerus and

Pectoral girdle

HH&Saot & ghel, 66 hpe 54

C) Pivot jont III. Between carpals and metacarpals
&0z Sen Foeogo, 85ry WG

D) Gliding joint IV. Between atlas and axis
etts Ben 854560, mgo i

Options :

A-TI, B-V, C-TI, D-1IV

1. ®

A-T1II. B-1I. C-1L. D-V
2.8

A-II. B-V. C-1IV. D-1
3.

A-L B-IV. C-II. D-V
4. ®

Question Number : 65 Question Id : 6404118385 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



Study the following and pick up the incorrect combinations.

(Bod a8 egiahiio DB Hos°

R S P =1
& sbERoa)o hbodod.

S.No. | Cranial nerves Arises from ... Ends in...
.30, E3romihe 2aHendd oo ... woddly grifo ...
L Olfactory nerves Olfactory epithelium | Temporal lobes of
of nasal chambers cerebrum
5ees ethHen TRhs SE59 (3 Sofposta
Sty J0g0 ©odden
IL. Optic nerves Retina of eyes Cerebellum
3 Teeden g J& Sewo 93050850
TII. Auditory nerves Internal ears Cerebrum
(#3560 aeden &5 BHen S0
V. Pathetic nerves Floor of mid brain Superior oblique
waird oothen Sy ot &d0 erro | muscle of eye ball
S0 Sk
otz 808
@355 Sotdo
Options :
| il )
1. %
IT. 111
2.¥
1. IV
3. %
LIV
4. &

Question Number : 66 Question Id : 6404118386 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0



Match the following.

806 80 mdnddod.

Hormone Disorder
Bleprey ©558
A) Thyroxine 1. Addison's disease
@0 IBIS 6
B) Vasopressin 1L Diabetes mellitus
TR RS SOTrdaR HdeD
C) Glucoccorticoids IIL Acromegaly
Hp&*seOsronGen D8 Fored
D) Somatotropin Iv. Myxedema
D ErePerdS 08B
V. Diabetes insipidus

elons iRt

Options :

A-TV. B-II, C-1, D-TI

1. ®
5 A-V. B-II. C-1IV. D-1
A-TI. B-1. C-V. D-1IV
3. &
A-TV. B-V,. C-1. D-1II
4.9

Question Number : 67 Question Id : 6404118387 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Pick up the mononuclear phagocyte.
DES0(688 PRI HBoS0s.
Options :
Mast cell

T g
v B0

Histiocyte

SRS
2. T

Basophil

s s PPELS



Oesinophil
shThS
4.%

Question Number : 68 Question Id : 6404118388 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Cells primarily involved in hmmoral immunity are
Be|655y eibolsesinds® Ergsnsorr &6 Sweren

Options :
B cells
B Zegren
1.¢
T cells
) % T Zrgren
NK cells
Haresross Sgeen
3. &
Macrophages
4% wJ;Q gIEE Segoen

Question Number : 69 Question Id : 6404118389 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Part of antigen that binds to the specific part of antibody is called

558 daros®D o) grriod pofEndaly (HHSS grrio

Options :

Paratope

FoeED
1. ®

Isotope

oSS
2. 8

Biotope

DEPEDH
3. &

Epitope
4.

Question Number : 70 Question Id : 6404118390 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



Assertion (A) . Colostrum 1s essential to protect the new-born baby

from initial sources of infections.

Q8o (A) D Kerd 8%5% &0 JolEikne Kok 8ol Swltares
s @o) e @55%0.

Reason (R) : Colostrum contains several antibodies (especially
I, - Atype)

==8c0 (R) E';é“@ ©3E Soro (H8 e wotron. (Soggort

I - A 8¥0).
Identify the correct O])T]O]l from the following
Bod =&s° 3588 2= oSk
Options :
(A) and (R) are true. (R) 1s correct explanation (A).
(A) 8c0 (R) Qezo. (A) 8 (R) 588 D8re.

1. ¢
(A) and (R) are true. (R) 1s not correct exlanation for (A).
(A) S8 (R) Rezo. (A) 8 (R) 885 2580 =%

2. ®
(A) 1s true. But (R) 1s false.
(A) Qeso, =R (R) Dezo ==n.

3. &
(A) 1s false. But (R) 1s true.

. (A) Qezo =%, =0 (R) Qe0.
4.

Question Number : 71 Question Id : 6404118391 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

This hormone involves in ovulation.

2of S Fos® g Serod FEEYS

Options :
Estrogen

l. ® 'éD!lc_\_é'J 2300

Progesterone

| e,
rEdTeS
2

2.8

Luteinizing hormone

wyBEoh S
3.7 '



Follicle-stimulating hormone

Question Number : 72 Question Id : 6404118392 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Infertility due to low sperm count can be rectified by the following Assisted
Reproductive Technic.

BHE 8% S5 SHPS 20R Rdozdoeiray ) & Eod (BEnd 8 JiFaby
FozBEs oo° 563‘053566{,

Options :

Zygote Intra Fallopian Transfer (ZIFT)
TS HAHT Trzross éocﬁwﬁf&a& 269 (ZIFT)

1. 8

In Vitro Fertilization (IVF)
488 wrsi Hob¥dmo (IVF)

]

Gamete Intra Fallopian Transfer (GIFT)
SSFDHE Trrrosdd So@eK fe 260 (GIFT)

Intra Cytoplasmic Sperm Injection (ICSI)
£l (855,06%08 HE¥mroks s08f Tabio (ICSI)

4.¥

Question Number : 73 Question Id : 6404118393 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
O-group child cannot have parents of following blood groups.
O-+iirs) B85g0 Mo 38y @) 5ot & (Sob B e 5DA 6okt
Options :
Band B
1% B &58dn B
AandB
AHbaw B

Oand O

O :hbain O
3. %

AB and O

AB s58an O
4. &



Question Number : 74 Question Id : 6404118394 Question Type : MCQ Option Shuffling : Yes Display Question Number :

Correct

Marks : 1 Wrong Marks : 0

Study the following regarding human genome project and identify the correct

statements :

555 B D B 080D (806 AR weiiabdo B SO wosred HBoS08.

I.  The largest known human gene is located on X-chromosome.
X-BParE%in g o&g eSS e sotwob.
II. Chromosome 1 has the lowest number of genes.
15 (B°3rPPop o8 8599 :603,35555 @D HoLroD.
III. Less than 2 percent of the genes code for proteins.
2% o8 K exigHen (S KossTo.
IV. The human genome contains 3164.7 billion nucleotide bases.
Srdd EFHE® 3164.7 DD0DY S8(@D 56 e2080en SoLroD.
Options :
Iand IT
I:08ain IO
1. ®
IT and IIT
5 % IT 58ai» 1T
I and IIT
3 I 550605 I
IT and IV
I 5805 IV
4. %

Yes

Question Number : 75 Question Id : 6404118395 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Correct

Marks : 1 Wrong Marks : 0

The Karyotype AA + XXY leads to
seOardsy AA+ XXY Hg 8e0ihid.

Options

Turner syndrome

| x 985 20|25

Kleinfelter syndrome

85396 dolE"D

2.¢¥ =



Down syndrome
;% B9 o ARV
Cushing syndrome

200 DolE°Sh

Question Number : 76 Question Id : 6404118396 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0
Cystic fibrosis 1s characterised by

225 2EDS Sogy ©Fmo

e
Options :
Increased sodium chloride m sweat

Boed® Edabo 5BE whsore eoko.

Urine becomes black on exposure to air

. M SADNG Srlgo Suetidod.
2.

Conversion of phenyl aniline into tryrosine
236 ©0d5 Hod 86°S QG YELO.

Replacement of glutamic acid by valine

Kperans oo pod® oS doe
4.8 =

Question Number : 77 Question Id : 6404118397 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Assertion (A) . Genetic drift tends to reduce the amount of genetic
variation within the population.

Q&S0 (A) D ey &‘%géé Sg .8 BTeorS® a2y 30ore J8Srwo
Srphod.

Reason (R) . In genetic drift alleles with low frequencies are
removed in a population.

=80 (R) . ey &J%ﬁoﬁé S BPdedro LORD ciorf) Dol

2TegT Eﬁ:o& Fohdnosd.
Identify the correct option from the following
Bod =&&° $8% o)==l ook
Options :
(A) and R are true. (R) 1s correct explanation (A).

(A) 2085 (R) Rezo. A2 (R) 585 D5,
1. ¢



(A) and R are true. (R) 1s not correct exlanation for (A).
(A) 508050 (R) dezo. A8 (R) 388 2558 =%

2.8

(A) 1s true, but (R) 1s false.
- (A) Qeo, =R (R) Qazo ==&,

(A) 1s false, but (R) is true.
(A) Qo =%, =0 (R) Qez0.

4.%

Question Number : 78 Question Id : 6404118398 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

This hominoid is more ape like
& FoaronG 8°580 8% (ape) 2 £5O dotn0b.
Options :
Divopithecus

(S TrSHAED
v © -

Ramapithecus

% oy Pl el 1)

Australopithecus

SITHBED

l&-;
3.8
Homo ergaster
S Gr Do6
4.8

Question Number : 79 Question Id : 6404118399 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Tall T-wave of ECG mdicates
ECG 6°2 285 T-86o50 632 Sriob.
Options :

Hyperkalenia

0 sOdnair

Hypokalemia

) % rEEONair

Bradycardia
@3“55'-'9 aie
3 8



Tachycardia

Question Number : 80 Question Id : 6404118400 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Match the following.

806 760 maiodod.

List-I
Ss-1
A) Attenmated whole agent vaccine
TheEss 8008 Hodry
B) Inmactivated whole agent vaccines
%L%&CGF RDoEPY e85 a8 )den
C) Toxoids
ersmonden
D) p53 protein
p? @éS

Options :

A-II, B-IV. C-I, D-III

A-TI B-1, C-TI, D-1IV

2.8

A-I. B-IV. C-1II. D-1I
3. #

A-III. B-1, C-1IV, D-1I
4. &

Section Id :

Section Number :

Section type :

Mandatory or Optional :
Number of Questions :
Number of Questions to be attempted :
Section Marks :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Question Number : 81 Question Id : 6404118401 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

List-11
Hos-11

II. Guardian angel of genome

£
ESD BobEm B

III. Measles
Hiadden
IV.  Diphtheria

a58a0se

Physics
640411180
3
Online
Mandatory
40
40
40
0
1
640411180
Yes



If the measured values of the voltage across and the current through a resistor are
(100£5)V and (10£0.2)A respectively. then the error in the determination of
the resistance is

&8 DFE50 FHe D ST Hooh T T RS (FHaeir Fodo Deden SHHE

(100+5)V 5800 (10+0.2)A wans, & 850 B3oHHEED 650

Options :

L% 5%

Question Number : 82 Question Id : 6404118402 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If a body is thrown vertically upwards from the ground with a velocity of
20 m 7%, then its displacement during the last second of upward motion is
(Acceleration due to gravity = 10 m s7)

2.8 555 grdn Hod 88 womorr 20 m s Jrod® DIBwES, wbirn HDHH506%
D350 Do ) Pigodo

(Mg #8es0 =10 m s72)

Options :

S5m
1.¢

10m
2. 8

I15m
3. &

20m

Question Number : 83 Question Id : 6404118403 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If a ball released from a height H takes a time T to reach the ground. then the

o . y T
position of the ball from the ground at a tune o8

H o) 508 255083 a8 008 Tswod® grind 308,
ool &Ry ad)

Options :



= |

1. ®

|

=

3. ¥

|¥5]

Question Number : 84 Question Id : 6404118404 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

For a particle moving in x-y plane. if at any mstant of time ‘t’. (in second) ifs
displacements (in metre) are x =2t"—t and y =4t" —4t. then the velocity of the
particle at a time t=1 s is

Xy $006° SHenHP) a8 Ewod AFT wwo ‘f (REok &) HF R TNigomen

(&8 &°) x =2t —t O y=4t° —4t, wond sPeo t=15 5 & Swo Bifo

Options :

3ms!

Tms!
2. %

lms!
3. &%

5 -1
4 " ms

Question Number : 85 Question Id : 6404118405 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A body of mass 6 kg is moved with uniform speed on a rough horizontal surface
through a distance of 200 cm. If the coefficient of kinetic friction between the
swrface and the body is 0.1. then the work done against friction is
(Acceleration due to gravity = 10 m s7)

28 88 Drods KD oo 6 kg (Boed Mo ¥ 55N 2868 568 200 cm
Grdo 8HDoTabdh.  Serd8 Hdan HRDs Py 188 pdes Dego 0.1, wons
EpS JEB8orT eBRD B
(rhtedy o = 10 ms™)

Options :

12]
1. ¢

2. %

6]



487
4. 8

Question Number : 86 Question Id : 6404118406 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If the time taken for a block to slide down a smooth inclined plane of angle of
inclination 30° is 4 s. then the time taken by the block to slide down a rough
inclined plane of same length and same angle of inclination is

(The coefficient of kinetic friction between the inclined plane and the block

=0.283)

aeen Bmo 30° Mo el 20r0s) arendoo pchol el &B:ué Bofi8 ethén® éé.g =00
4 s 00wd, ot SPED) HBAD o8 oren 8o o el KHH aren duo D08 © B3y
(80BE erthtaH Y sPwOo

(Frenderds H0cin 3D gy ABE 0, heeso = O.ESJE‘:}
Options :

10s
1. ¢

Question Number : 87 Question Id : 6404118407 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A machine gun with power 15 kW can fire 360 bullets per minute. If the mass of
each bullet is 5 g, then the velocity of the bullets is
15 kW Eﬂ}aﬁ,gbo Mo el b eard, erdd 360 mdsed Ti:e;:ﬁa:cﬁ:. a8 engés
(855028 5 g wand, & en@eSe Bifo

Options :

L% 1500 ms7!

1
- 1000 m s

3600 m <!
3. &

500 m s
4. 8

Question Number : 88 Question Id : 6404118408 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The slope of kinetic energy (on y-axis) and linear displacement (on x-axis) graph
of a body gives the rate of change of

a8 D) B 48 (y-o803) Hbain BhadH igé@oﬁ’o (x-0807p) © G (P 0y

aren & TeE Ging) é:cffn:;,ét.);é.} Sredloiha.



Options :
linear momentuin
| v OBa% [gﬁaiagﬁr‘io
linear velocity
5 % BEcH Firfo

force

3 ® BY0

angular momentumn

ghah (BP0
4. %

Question Number : 89 Question Id : 6404118409 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The upper end of a wire of length 5 m is fixed to a ceiling and a 20 kg mass is
attached at its lower end. If the wire makes an angle 60° with the horizontal. then
the moment of force with respect to the upper end of the wire is

(Acceleration due to gravity = 10 m s~)

5 m PG fo a8 8K 20560 2EpH Dhod, el 1Boh D6 20 kg (($ioead
ShDoDTG. @ &1 S8 Srostos® 60°Fmo Dandd), &5 PSS Htore 2o
lgrango

(rodoedy &0 = 10 ms™)

Options :

200 N m
1. %

SOO\E Nm
2. 8

250\6 Nm
3. 8

500 Nm
4.

Question Number : 90 Question Id : 6404118410 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

As shown in the figure, if a solid sphere of mass M rolling with a speed 'v' on a
horizontal surface strikes a spring of force constant 'k'. then the maximum
compression of the spring is

He008° FrHS Dgore M (855078 Ko &8 HX Aldo 'V HGE a8 §8e S5r0Ss Swop

Fhdr oo Fgocoéo k' fo a8 Qo =83, = @\-oﬁ grot 183 Homtho

) n

Options :



Question Number : 91 Question Id : 6404118411 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If the equation for the displacement of a particle executing simple harmonic motion

. o ou 0 Y : e .
5X= :sm‘ E—FE | em. then the distance travelled by the particle in a time of

365 1s

(Time 't' is in second)

H88 roeEs Sosos® e

L L2mE T
2.8 8830 @0E) ~pS(go B850 X = 35111‘ E_'_E ‘cm.

0onS 36 s w06’ & Swo (HaSrdods drdo

(semo 't'
Options :

24 cm
1.¢

12 cm
2. 8

18 cm
3. 8

15 cm
4. %

Question Number : 92 Question Id : 6404118412 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If T is the time period of a simple pendulum. then at a time Py after the pendulum

passes its mean position

a8 o3 Sl Fomrddd sroo T wond, S*o8o oo Sriis Jrso ras doud

Options :



kinetic and potential energies of the pendulum are equal
Soso Gng) 8e: Hda §Be: SHew HeSo

the displacement of the pendulum is half of its amplitude
S % Sogo @nE) FIPodo, TR Lo HBWBES® Drfo
acceleration of the pendulum is half of its maxinmmm acceleration

oo #y6e0, Tl 7503 Seos® Difo
3. 8

velocity of the pendulum is half of its maxinmm velocity

4 Sego Jro, oD aters} S0 Hr0

Question Number : 93 Question Id : 6404118413 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If a body is projected from the surface of the earth with a velocity of J5 V., then
the velocity of the body when it escapes from the gravitational mfluence of the
earth is

(Escape velocity of a body from the surface of the earth, V.= 11.2 km s™)

2.8 SKHD e 65680 H0d V5V, Fros® B0 Fn3, © 50D rd HhEREsm
(Berso fod Herahdo DoHdm T Bio

(g 6508w0 DHob a8 5N HerchS Srfo, V=112 kms™)
Options :

224 km st
1.¢

11.2 km s
2. #

1 1.2J5_. km 71

3. %

5.6kmgt
4. %

Question Number : 94 Question Id : 6404118414 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A person of mass 45 kg having leg bones each of length 50 cm and area of cross-
section of 5 cm’ jumps safely from a height of 2 m. Ifhis leg bones can withstand
a stress of 0.9x10° Nm™. then the Young’s modulus of the material of his bones
is

(Acceleration due to gravity = 10 m s7)

(58 2508 50 cm ey Hoan 5 e’ Farego Mo 52O JEnsen &) 45 ke (55508 e

.
2.8 58
e

2 maf Hob DifFore SrENen. ©d) =f) J5sw  0.9x10° Nm™
[Péoerd) SepsHand, o8 s°E) Ssuse Hoess aHoR Kesso

(rothedy #y8es0 = 10 ms72)

Options :



225x10° Nm™
1. #

2.25x10° Nm™
2. ¢

45%x10° Nm™
%

1.125%10° Nm™
4. %

Question Number : 95 Question Id : 6404118415 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The work to be done to blow a soap bubble of radius 3 x 107 m is nearly
(surface tension of soap solution = 20x1 0> Nm™ )

3x107 m aFrgo Ko 28 Say) et éthed IeHBedD H HIrsHT
(e ([@reieso Gng) SoSKS = 20x107 I\'m‘l)

Options :
-4
L% 45x1077

45x107 7

45x107°]
3.

45x107 17

Question Number : 96 Question Id : 6404118416 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A solid sphere at a temperature of 400 K radiates a power P. If the radius of the
sphere is halved and its absolute temperature is doubled, then the power radiated
by itis

400 K &8s 3¢ rfo 2.8 08¢0 P Jriooegd) D880 dam. Ao axaroed) Sifo

38, o0 5655 &EPSES Bo) D05, & %o DBSmo DD i Veifel

Options :

4P
4.¥



Question Number : 97 Question Id : 6404118417 Question Type : MCQ Option Shuffling : Yes Display Question Number :

Correct Marks : 1 Wrong Marks : 0

When a polyatomic gas is heated at constant pressure. the percentage of heat
given to the gas that is converted into external work is

(Ratio of the specific heat capacities of the gas = E)

a8 @fNtaras arand R0 HisHo 5 IETDIDPE, ranHD 8HweES eHod°

pe 2 Oy £
EPETR A bR o
)

4
i R L E SR Do et o
(Fraing aog) DBEPY e IS = <)

Options :

Yes

Question Number : 98 Question Id : 6404118418 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The thermodynamic process in which the change in internal energy of the system

becomes zero is

a8 i dng) wodds 486° drdy) Ham 606 SIS (HBaH

Options :
adiabatic process

5558 (Bl

oee

1. 8

1sothermal process
Wt a SAE Ly
i Qs esfltiee ([|1BaD

2.

1sobaric process

250 HES FHidah
3.

1sochoric process

55 DSHBSrn (H18cH
4. %

Question Number : 99 Question Id : 6404118419 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The efficiency of a Carnot engine operating between the temperatures 1000 K

and 300 K 1s
1000 K s:680m 300K ﬁ%-;_ﬁée: é.}cﬁ_,_g éf:fdi»iég =] 3@5‘; cholgo @ng) S5

Options :



60%

70%
2.¥

90%

80%
4.%

Question Number : 100 Question Id : 6404118420 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A closed vessel contfains a gas at a pressure P. If 50% of the mass of the gas is

removed and rms speed of the gas molecules is increased by 20%, then the pressure

of the remaining gas is

28 S &) arEs® bESo PSP a8 araind S, arang ($550e86° 50% 5

Fohod, T°ohn N rms S , 5y
Options :

16P

5
1. % =

2.8

3. %

18P

25

4. %

Question Number : 101 Question Id : 6404118421 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If a sound wave emitted by a stationary source of frequency 680 Hz travels towards
a stationary observer 150 m away. then the number of waves between the source
and observer are

(speed of sound in air = 340 m s7})

Sézpj-%g@é‘s &5 a8 ad8o ob JwHGD 630 Hz ) ro e &8 g &dorfo

150 mir506® DHohBE &) o8 5680 3 (HairBodI, #8550 HBAH 56805
g feo ddorre Jogy
(ro&® & 58 =340 ms™)

Options :

| v 300



450

Question Number : 102 Question Id : 6404118422 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

As shown in the figure, a rod AB of length 5 cm is placed infront of a convex
mirror on its principal axis. If the radius of curvature of the mirror is 20 ¢ then
the length of the image of the rod is

- & =5 = = -
5 cm 8PSy Ho a8 88 AB. S0 Grhd dgorr 2.8 Hogrsed 6o Snoth ool

(Ferargo 03 BodndRk. S&so Gng) S axargo 20 cmoond, @ £ (H&Dowo

A B o
20cm
Mirror ( G35¥es0)

Options :

5cm
1. 8

0
—cm

2.

10 cm
3. &

3
—cm
21

Question Number : 103 Question Id : 6404118423 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A source of light approaching the earth emits a light of wavelength 600 nm. If
this light is observed at a wavelength of 599 nm by an observer on the earth. then
the speed of the source of light in km s is

=

(speed of light in vacuum = 3 x 10* m s7%)
€ =08 =¥%0 600 nm E50rFY 50 My T8 emEto TR DY HBHYG.
.8 504055 @ 2082 599 nn SB0rEYs0 3¢ HepNoN, © S°0d wso 56

o, T
i a_.

B

&

NS

kms™

(#5508° 5708 53 =3 x 10° ms™)
Options :

250
1. ®

300



Question Number : 104 Question Id : 6404118424 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If three particles of each charge +q are placed at the three vertices of an equilateral
triangle of side 3t then the net electric field at the centroid of the triangle is
2,858 & +q esa3d0 o St SereR J_z ghezo Ko 2.8 Geherd™ (Bghao Tng) s
dore c,cﬂ #0035, @ (Bghes Sopegio (centroid) 5& DB DsyE F@o

Options :

I q
dme, r

1. ®

4me, 1°
2. %

1 3q
4me, 1

zero (<o)
4.

Question Number : 105 Question Id : 6404118425 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If an electric generator produces a potential difference of 180 kV m a spark of
length 9 cm. then the maximum electric field generated is

2.8 DS a0wb 9 cm EFED Ko a8 HHHE 180 kV FEcHe Furd) SenrEs,
&8 wons K0 DiRs glgo
Options :

RN C

) % wNc’

2x10°N C*
3.

4x10°N C™
4. 8

Question Number : 106 Question Id : 6404118426 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

To decrease the capacitance of a parallel plate capacitor
2.8 H5rods Hede Sardad Cf}l.é Bl m@um :élj jﬁoii—évé‘
Options :

a dielectric material is to be introduced between the plates
2.8 B8 maaotm oo gy o,,,-amé,éeom



the area of the plates is to be increased

dese Jreerid)) BoWITD

the area of the plates is to be increased and distance between them is to be
decreased

DoBe gerod) oW a8 gy o) SHoUNTD

the distance between the plates is to be increased

RIS Al nvee LIV AN
4.

Question Number : 107 Question Id : 6404118427 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Two cells of each emf 1.5 V and imternal resistance 1) are first connected in

series to an external resistance, R and then the cells are connected in parrallel to
the same external resistance. R. If the ratio of the potential differences across the
resistor R in the two cases is 4 : 3, then the value of R is

w&B 1.5 Vemf Hoatn 1 Q wosiBgo Ko Botd fhere &wnd (BH6° s epag
B0 R&, & $thard Siirodtorr of arde A6%0 R & 8Dirth. Both Jotioned®
A8°go R p SB0HS gore S 4 : 3 wand, R Densd

Options :
5.50)

1. #

450
2.8

Question Number : 108 Question Id : 6404118428 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The distance travelled by an electron in a time of 3 ns when accelerated from rest
in an electric field of 0.9x10* NC™ is
(mass of electron = 9 » 10~ kg and charge of electron = 1.6 = 107 C)
0.9x10° NC™ D538 g@os® dovsh 8 ood SWHg%o 3o6d &8 Jolgs 3nse
s (HairBodd Grdo
QoS (X508 = 9 x 107 kg 50an oS eddo = 1.6 x 10°0)

Options :

7.2 m
1. ®

7.2 cm

72 cm
3.8



5
4 0.72 cm

Question Number : 109 Question Id : 6404118429 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The magnetic field at a point P at a distance of 2 cm from a long straight wire of
diameter 0.5 mm carrving a current of 1 A is B. If the diameter of the wire is
doubled without changing the current. the magnetic field at the same point P is

1 AD6x8 Harso, 0.5 mm a=i0 o a8 SPE3S 859 &5 508 2 cm &rSost Ko
G C 2) g ol

28 Doty P H3 wohamod Fdo B. &1 omor (3Erod dGnsH Srdfom oo

o~ - g o . 5
arsed)) B0 WD, ©d Do) P 5§ wchImoes SlEo

Options :

2B
1. ®8

|

p‘g‘ﬁ

3. ®

vy

4.

Question Number : 110 Question Id : 6404118430 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The magnetic force per unit length acting on a wire carrying a current of 44/3 A

and making an angle of 60° with the direction of a uniform magnetic field of
200 mT is

200 mT 2568 wabdmoed 58 638° 60° Fwmo Do 443 A 268 [Harssly
SOACHD) &.8 HiTp 2508 PPEHD HATaln edhiFed avo
Options :
1.8 Nm'

1. ®

2.4 N ni'!
2. 8

0.6 N ni'!

1.2 N !
4. &

Question Number : 111 Question Id : 6404118431 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



Two identical short bar magnets of each magnetic moment 1 A m’ are placed at a
distance of 2 m between their centres with their axes perpendicular to each other.
The net magnetic field at the mid point of the line joining the centres of the two

magnets is
2558 1 Amleahamod [grsbdo Mo Dok HEFErS P& tomrehanosroD, 8

w5ren e8I ES wonorr 0B HForT oS Solgren 2 M EFGos® sothdey BT

% Both wahamomre Solprei S8 Op gy Hohd $5¢ JEE wahamos glgo

Options :

2x107° T
1. #

) % 100 T

J5xi0’ T

3.

J3x107 T

Question Number : 112 Question Id : 6404118432 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The device constructed based on the laws of electromagnetic induction is
DesBabAmed (Ms JCHIrOD HErRoD Scid Tabads Jso

Options :
galvanometer

| % PO neb

electric motor

2. ®

ohm meter

&5 Snen
3. 8

electric generator

DisxeE =3¥o
4.4 "

Question Number : 113 Question Id : 6404118433 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If an inductor of inductance 0.5 uH is connected to an ac source of frequency
70 MHz and voltage 3.3 V. then the current through the inductor is
70 MHz #F3e)50 S000 3.3 V 582 e o8 ac 255708 0.5 pH (255850 o o
(POseR) 50D, ©@ (@850 wuor A6RS (FHarsro

Options :

L% 5 mA



7.5 mA
2. &

15 mA
3.¢

30 mA

Question Number : 114 Question Id : 6404118434 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The elecric field between the plates of a parallel plate capacitor changes at the
rate of 4.5x10" Vim™s™. If the plates of the capacitor are circular in shape with
a radius of 2 cm. then the displacement current mside the capacitor is

a8 $Erodt Hoso Sarbeb defo HE 26gS FEo 4.5x10" Vm's? Bens®

SroHH. Srbed Suse 2 cm ac,?_é)-'-'go e eéi.@jscéoé’:‘ &:), Sarbeb &Pe

J_.'

PSlgod DEgS (Daro

S

Options :

L » 0.2 1A
0.3 A
W

0.4 1A
3. %

0.5 1A
4.

Question Number : 115 Question Id : 6404118435 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A particle is moving with a velocity four times the velocity of an electron. If the
de Broglie wavelength of the particle is 1.5 »x 10~ times the de Broglie wavelength
of the electron. then the mass of the particle is

(mass of the electron =9 = 103! kg)

2.8 S0 JoiES Jrrdd Trenrd Biy Dro8” (HorBohft. © Swo & (ardDh Storgy,

o

°0, JJ&:'C:g?ﬁ & lgrdh S8018o 308 1.5x 107 Bey, wonsd & Swo (&S5

3]

(DS (Baoee =9 x 107 kg)
Options :
1.5x10" ke

1. %

1.5x107% kg
2.9

2.25x107 kg
3. %



Question Number : 116 Question Id : 6404118436 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

When an electron beam of energy 10.2 eV is used to excite hydrogen gas. then

the possible spectral line is

TGS sraindi® 10.2 eV 38 fo a8 oS Hozod® aBenths, o Shard SRt

355 By
Options :

first Balmer line
F058 aeb B

first Lyman line
DS T
2. =

second Balmer line
Do ersnb By

second Lyman line

Boks BHS O
4. %

Question Number : 117 Question Id : 6404118437 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The equation for |, Ne® nucleus which decays by [ -emission is

B -surtod® gabo 308 | Ne” SotiSo Ging) Ha088es0

Options :

7,23 P—decay T .
mt\e B—T) I\e +V+e

avie}

-~ a3 B
Ne® 22 5 Ne®+v+e”

= E— 2 gL G ity
oNeB B0 5 Np» a1y
p-5ao

Question Number : 118 Question Id : 6404118438 Question Type :

Correct Marks : 1 Wrong Marks : 0

MCQ Option Shuffling : Yes Display Question Number : Yes



Two diodes with zero resistance in forward bias and infinite resistance in reverse
bias are commected to a battery as shown in the circuit. Then the value of current
1 is

5B EHoe® How AG°Fo Hocs HE°FHOE® wSod B0 e Do sErEw Htaod®

=

Hr2E5 Dsore 2.8 aretabs SenHadaron. @ons HExS Hariro 1 Densd

D, 200
>
D,
[~
if 400
L
10V

Options :

Zero K;a‘-;)

05A
2.

Question Number : 119 Question Id : 6404118439 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The circuit consisting of NAND gates that 1s equivalent to AND gate 1s
AND o7 o8 S8 NAND oeroro 584 6 Soddho

Options :

A

B

A—

2.



|D‘-—
7

Question Number : 120 Question Id : 6404118440 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If a linear antenna radiates a power P at a wavelength .. then the power radiated

A
by the same antenna at a wavelength of ﬁ 1s

; 5 g o b g 4 g oo A
S5otigt o A :cg 2.8 BHcH B0y S8Bes0 Taxw F_I-rﬁ:g_;_o P evond, &g SO ——

<

&

S501PYE 50 3¢ N8GO T Y g0

Options :

P
1. %
3P
2. %
P
3. % =
3P
4.4
Chemistry
Section Id : 640411181
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 40
Number of Questions to be attempted : 40
Section Marks : 40
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 640411181
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 6404118441 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



A spectral line of Lyman series of H-atom has a frequency of 2.466 x 108%L,

What is the transition responsible for this spectral line ?

(R=1.096x10" m™ 1)
H-5885re06® 8505 (BBE%0 BPHe Oy B0 2.466 % 109571 & SEHe> Bt

Se8Ead HBHBKo 26 ?

(R=1.096x10" m™ 1)

Options :
n, =2 to n; =1
| 2 i
n,=3to n;=1
2.8 7

et =2
;w12 4 ton=2

n,=35ton=1
4. %

Question Number : 122 Question Id : 6404118442 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If the kinetic energy of a particle having wavelength x A is increased to three
times, its de Broglie wavelength (in A) is :

x A SB0K3Y 5o He a8 Smo H8eds it iy DOAD, od) &i5% SBorgdy, 530
(A &%)

Options :

1. #® A
3x

2. %

N
®
s | =

Question Number : 123 Question Id : 6404118443 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

From the following identity the change in which electron gain enthalpy is positive.
Bod 8 JeseS (e dogredy Soeg)Eore 508 Srénd HBodod. (g=ar)
() (2 o b . i =
Options :

Li(g)——Li (g)
1. #

0(g)— 0y
2. % :



Xe(g)——Xe (g2)
3.

S(g)——S (g)
4. %

Question Number : 124 Question Id : 6404118444 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Observe the following molecules.
SO,, H,0, HgC/l,, BeCl,, XeF,, O;, NO,, PbCl,
The number of molecules with same geometry as that of SnC ’?z is
Bod wmded H564D03508.
SO,, H,0, HegCl,, BeCl,, XeF,, O, NO,, PbCl,
SnCl, 2258080 £°0 &) ewwshe Hogy
Options .

1. ® 6

Question Number : 125 Question Id : 6404118445 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The increasing order of covalent character of NaC/(I). RbC/(Il). MgC/, (III).
AICI3(IV) 1s
NaC/(I), RbC/(I), MgC/,(IIT), AIC;(IV) e Hd@radch ofmo 2B6M Eo

Options :
|« LILILIV

IV.IIL I, ITT

;3 ¢ ILLILIV

L LI IV

Question Number : 126 Question Id : 6404118446 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

For one mole of an ideal gas. three isochores were obtained at V. V, and V,
separately. Their slopes are m,. m, and m. respectively. If V e then
the correct relationship of slopes is

28 TS Elalomewtyi- ey 2RPEEEen, V.V, &8co Vi o 55 S5 efomeon.

& srenen ST m,.m, snbcin m,. VE <V, < V3 ©OoNB, sene HBADD HomotsEn

Options :



m, <m, <m

3 1

1. ®

<m,<m

Ill1 9 3

2. %

m, > 1m, >m
e 123

m, =m,=m,
4.%

Question Number : 127 Question Id : 6404118447 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

At what temperature rms speed of 503 molecules is 3.16x10% ms™! ?

(R=8314 JK ' mol™

D &8RS 58 SO, wmde ms o 3.16x10% ms™" e sotwod ?
(R=8.314JK 'mol™)
Options :

480 K

320K
2.9

160 K

640 K

Question Number : 128 Question Id : 6404118448 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

In acid medium dichromate oxidizes sulphite to sulphate as shown below.

£ i E. = &
o5 aSrdgos?® BiE%heS, 28)65:, .‘»’:é;éﬁrw (Bod DForre 8880 rrAohib.

xCr,03” +ySO; ™ + zZH" ——aCr’* +bS03™ +cH,0

Identify correct statements about this balanced equation
& ey 580 EBeENSE o200 BBS el hodhdm.  (only = Soe(Esab)

I) Sumofxandyis4
X 0bdin ¥ o 3ndo 4.
IT) Sum of a and ¢ is equals to (3 +b)
a 38diw ¢ © Iwdo. (3 +b) H JEERHw.
IIT) Sum of ¥, y and = is 11
X, ¥ s08cdin £ o dwsgo 11.
Options :
) SN

1. ®



I, II only
2. ¥

L. IIT only

3. ®

. II. III only

Question Number : 129 Question Id : 6404118449 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

e
The enthalpy of atomization of CH,NH,(g) 1s 2313 kJ mol !, If Ac_gH and

AN_HH@ are 414 and 389 kJ mol™! respectively, then QC_NHG (in kT mol™)

will be (g=ar)
i e
CH;NH,(g) &g DEErBSSe Qogre)y 2313 kJ mol . Ac_gH S0aw An_gH 7

e S0 414 $0aH 389 kT mol ™ eond, Ar_yH- (kI mol™ o6®) 208 ?
Options :

293

1.V

Question Number : 130 Question Id : 6404118450 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



The value of A, H for the reaction

N,04(g)+3C0O(g)—>N,0(2) +3C0,(g) (in kJ) is

(Given : Enthalpies of formation of CO(Q) CO,(g) N,O(g) and N,O,(g) are
respectively —110, —393, 81 and 9.7 kT mol™})

N,O,4(g)+3CO(g)—> N,0(g)+3C0O, (g) o3 JGE AH Dend

(kJ o&°)
(36 : CO(g), CO,(g) N,0(g) Hocm N,0,(g) © Jogke Jogrdimn ST
~110, —393, 81 $00050 9.7 kJ mol™1) (g=ar)

Options :

+678

1. ®

—078

778

3.9

. +578

Question Number : 131 Question Id : 6404118451 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

At T(K), the equilibrium constant for the reaction N,(g)+3H, (g) — 2NH, (g)

is 6 x 1072, At equilibrium if the molar concentrations of H, and NH, are 0.25 M
and 0.06 M respectively, the equilibrium concentration of dinitrogen

(in mol .71 is

T(K) 58 N,(g) + 3H, (g) == 2NH, (g) S8 05m8 Jo-0%0 6 x 1072, $0m-28

& (&3] (53]

&5(‘,@3 H 00 NH & Srerd rESen SEHme 0.25 M S08cm 0.06 M ©wond Q@@a&ﬁ
508 mES (mol Ll ocf) (g=ar)

&)
Options :

2.84

3.84

2.¢¥



Question Number : 132 Question Id : 6404118452 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following aqueous solutions has highest pH ?
(Given log 2=10.30.log3=0.48.log4=0.60.log 5=10.70)
BoB aolmrHeres® B8 163 pH &oénod ?

(236 log 2=10.30,log 3 =0.48. log 4 =0.60, log 5 =0.70)

Options :
7 N
L 0.2 M Ba(OH),

0.02 N Ba(OH),

2.8

0.1 M NaOH

005 M Ba(OH)2
4.%

Question Number : 133 Question Id : 6404118453 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is not related to the removal of permanent hardness of

water ?

Bod >&EP 56 HB g TS bisED Sofodtod? Somogrd)) 8D Goith ?
Options :

L% ,\IazCO3,

NaA(SiO,

3. &

Nﬂ3PO4
4. &

Question Number : 134 Question Id : 6404118454 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The E is highest with negative sign for the alkali metal 'x' and lowest

o]
M7 (aq)M(s)
with negative sign for the alkali metal 'y'. In flame test, the characteristic colours
of x and y are respectively
o L]
M (aq)M(s)
EreatO S Eg0. exer HOES x H8ain ¥ © eherEBE Borben S8

=1
Lh

X o 55&tEg Hm H5HSE fBgo wboin V' el 5o86%%08



Options :
Blue. Yellow

Heo, HdH

Yellow. Violet
) B, Soe
Yellow. Crimson red
H03Y, SoHnBorn
3. %
Crimson red. Yellow

BodBorh, H%D
4.

Question Number : 135 Question Id : 6404118455 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Consider the following
Bod =E H8HBotod

Statement-I : The products formed when diborane burns i air are B,O.
H, and O,

S | ; Qﬁ%.% TOE 50855 DY Boiresmyen Bzos, H2 o8BS
0,.

Statement-I1 : H;rbl‘idiza‘[ion of boron atom in orthoboric acid is sp2.

gy 11 : @Séﬁeég eRoE® ol HESre0d Gno¥) Bo¥BE8mo sz.

The correct answer 1s
Options :
Both statement-I and statement-II are correct
sergr-1 30805 agsp;-ﬂ o SBGHRY.

1. ® o
Both statement-I and statement-II are not correct
c\_..";&}&']: D080 o-faapa-ﬂ Botr JBIED =D,
2.8

Statement-I 1s correct, but statement-II 1s not correct
e -1 S8G0Ks, = w—"baaa-[[ DOGHRH ek

3 ® ot
Statement-I 1s not correct, but statement-II 1s correct
qs;;—l RBTHXH T, =8 a‘;sp;-ﬂ XBFTRB.

4.

Question Number : 136 Question Id : 6404118456 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



In which of following set. both the substances have same hybridisation ?
BoB & 3B, Both Hororen a8 HoBEEBLENSt sotron ?
Options :

Diamond, Buckminster fullerene

1. % -
Graphite, Buckminster fullerene
5, 280EE HRdS
2. %

Carbon dioxide. graphite

SR B8, ([P
3. % - .

Diamond. carbon dioxide

Gok, s gesb

Question Number : 137 Question Id : 6404118457 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Identify the herbicides from the following
Bob B gend Swécp el hiodhin.

a) DDT b) Aldrin ¢) Sodium chlorate
DDT eS8 Phovo B
d) Nicotine e) Sodium arsenite
DEPAS FPlaho =835
Options :
Lo &e

2. ® a.d
;% b.C

d.e

4.%

Question Number : 138 Question Id : 6404118458 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Electrolysis of aqueous solution of potassium acetate gives an alkane (x) and
C.‘Oz(y) atanode. The volume ratio of these two gases x and y at STP is respectively

Srericho DB aso|prsdesf)) &‘Iiﬁj‘%&ﬁ&mo 38 855 (x) Hbdso C 0,(») en aStE

—=

58 wGeron. € Both srdinidden x HBAM ¥ o pHoSre V8 STP $8 Studne

Options :
1:1

1. ®



2.8
3 12
4% 123

Question Number : 139 Question Id : 6404118459 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The correct sequence of reactions involved in the conversion of n-heptane to
benzene is
H—‘a’m'%ﬁ&é; Bod S 1:3}“5;,8?{:0@5 2iné &) Sge [P (EHo
Options :
Oxidation. aromatisation. reduction
e_e%j,‘ééz&o, w8 BESmo, {evyi:tel>:Tol

Isomerisation, oxidation. decarboxylation

N %Cdg!égéésao, ©&%8m0, Ssrondyd8smo

5 5 2) HEY
Aromatisation. oxidation. decarboxylation

, 55 %éEs0mo0, @%}é{‘ﬁc&o. &S"U‘g‘?g;_@ééﬁo
3.

Aromatisation. oxidation. reduction
w85 dEsmo, @%}ééﬁso, EobEdeo

4. 8

Question Number : 140 Question Id : 6404118460 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A compound consists of atoms A and B. The atoms of B form hep lattice. The

1 1
atoms of A occupy 3 rd of octahedral voids and ;1‘(1 of tetrahedral voids. What

is the molecular formula of the compound ?
a8 HEnFddns® A HHbdn B HErendenonon. B Hdrmsien hep srosedy

1 1
i Gosron. ADSsresden 56‘) Dok egverEd Solgrod HBAN ;5") Ho BerarEe

Bolgred eBJromn. ééoéézéa’;. -&ﬂsaaird}@@ 26 ?

Options :



4.9

Question Number : 141 Question Id : 6404118461 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What are the mole fractions of glucose and water respectively. in 20% (w/w)
aqueous glucose solution ?

(C=12u:0=16uw:H=1u)

20% (W/w) KrEE o (edmod® KrEE $08cn OB BrS grmren SEHE Jod ?
(C=12u:0=16u:H=1u)

Options :

|« 0.0244.0.9756

0.04, 0.96

2.8

0.0636, 0.9364

0.0124, 0.9876
4.%

Question Number : 142 Question Id : 6404118462 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A liquid mixture of aniline and 'x' forms a non-ideal solution with negative
deviation from Raoult's law. What is x ?

A0S HHbosn ¥ © ¥ 155 DoEHo TG DoHFo HHod His Ddedo S5 sl @C‘Séﬁéé
(ErsterR)) adoh. ¥ @ik ok 7
Options :

Benzene

ol

-
)
2

fer5)

Acetone

DS
2. ®

Phenol
Haes

3.

Toluene

Lu S5

Question Number : 143 Question Id : 6404118463 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



Consider the following cell at 298 K.

Mg(s)| Mg‘pr (xM)|| Zn** (v M) | Zn(s)

The cell reaction reached the equilibrium state. What is the value of 102 3+] ?
n

[Mg?*]
o |

298 K 3, (Bod sherd) HdrhoNos.

Mg(s)| Mg2+ (xM)|| ) (¥ M)|Zn(s)

[Mg*"] _
oy 3B BHeHsR BHHHD. log—=— denid dos ?
i [ 25" ]
. 2303RT
E® =236V: E2. =_076V: 23 IE ,
( M Z*Ms 25217 ———=006V)
Options :
53.33
1LV
5.333
2. 8
26.67
3.8
o x 2667

Question Number : 144 Question Id : 6404118464 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

A —s P 1s a first order reaction. At T(K). the concentration of reactant (A) after
10 min of the reaction is x mol L™, After 20 min of the reaction. the concentration
of A was y mol L7l What is its rate constant (in 111i11_1) ?

A > P =H5h a8 (S5 Bdrol S8 T(K) B, S5 =bAS 10 Dévare &
Boiresdo A mE$ xmol L7l 385 =8A% 20 dfvire $%ard A rmgs ymol L7,

Ben Eleglele ey (min~! e&f) Hos ?
Options :
5
0.2303log—
3

1.¢

2.3031og
2. 8 '

X
3

2.303 logZ
3 % X

; v
0.2303 log—
4, ® £

Question Number : 145 Question Id : 6404118465 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes



Correct Marks : 1 Wrong Marks : 0

Which of the following is the most effective protective colloid on the basis of
gold number values ?

ﬁﬁ-sc__'i_ Dogy NDende wrrdore Bod FBEE 55 08D (argrdld HOBEE Eerond ?
Options :
Haemoglobin
VB VLA
1. ¥

Potato starch

DOTPEEHo apb
2. % mE

Gelatin

obS

)

Gum arabic
Koo ed9E

4. ®

Question Number : 146 Question Id : 6404118466 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Consider the following
Bod =& H8MBotol

Statement-I . The charge on colloidal particle can be confirmed by
electrophoresis experiment.

pal | . BPerondd B0808) 83500y DErmrads Kndeo
&'e T it =4 [= 9 [}

(electrophoresis) [HErNo oo OorBoSiy

Statement-II ~ : Whipped cream is an example for Aerosol
s 11 L oS SS ¥ ariTdn HHdodd @53

The correct answer 1s
LDBGY Do
Options :
Both statement-I and statement-II are correct
-1 508050 aepayr-1l Sotire SBGHHY.

1. ®

Both statement-I and statement-II are not correct

rag:;-l 08cm aﬁa@;-ﬂ Botir JOGHRY ==.
2. %



Statement-I 1s correct, but statement-II 1s not correct

aga:-;—l QBTHRH, =R 9?5@5-[[ LBTRS =K.
3.¢

Statement-I is not correct, but statement-II 1s correct

o1 SBGHND ==, =R way-11 SBGHHG.
4. &

Question Number : 147 Question Id : 6404118467 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The ore. concentrated by froth floatation process is
558 (DBch oo ro|BEBoSatH Smé Hpessin
Options :
malachite
SreBes

1. 8

sphalerite

bauxite

a8
=

3. %

zincite

2oz
4, b

Question Number : 148 Question Id : 6404118468 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Match the following
Bobd 7B exdHBhsin

List-I (Molecule) List-II (Bond angle)
erfla-1 (wem0s)) erde-II (20t58%s0)
A) NH3 I) 102.2°

B) O, IT) 107.8°

C) S I1T) 93.6°

D) PH, V) 117°

The correct answer is
H0R HErgEo

Options :

L% A-III. B-IV. C-1. D-II

A-IL B-IV. C-1. D-III
2. %



3 % A-II. B-L. C-III, D-IV

A-III B-IV. C-IL. D-I

Question Number : 149 Question Id : 6404118469 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Match the following
1Bob &L ssdithdndn

List-I (Complex) List-IT (Number of unpaired electrons)
erder-1 (Jodio) erflam-ll (a0 &ﬁ@fﬁ@ Sogg)

A) [Mn Clg]*~ D5

B) [Fe Fs]*~ II) 2

C) [Mn (CN)I>~ I1) 0

D) [Co (C204)3] IV) 4

Options :
- A-IL. B-IV, C-III. D-1

A-IV, B-II. C-1. D-III

2.8
3 % A-IL B-L C-IV, D-IT

i A-TV. B-1, C-1I. D-III

Question Number : 150 Question Id : 6404118470 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which one of the following oxidizes manganous salt to permanganate in aqueous

solution ?

Bob BE° DB JrorED ol ém@ofﬁéﬁw 20 [P0t aag:gérﬁwo eohin ?
Options :

H,O,
.®8 7 7

Question Number : 151 Question Id : 6404118471 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0



Polyacrylonitrile is used as a substitute for wool in making commercial fibres as
acrilan. The structure of it is

20 wfers ecotd &5Men

1830

SArBBhERE edTrht. B @ng) dos
Options :

- CH,-CH +
|

L% NC

— CH,-CH}-

—CH, -CH }-
|

3¢ CN

~CH, - CH -
|
\ NO,

Question Number : 152 Question Id : 6404118472 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following is a non-reducing sugar ?
Bob B HB Eahde, I8 s ?
Options :
Glucose
KpEiE

Fructose

2.8

Maltose

3. &

Sucrose

o EhE
4 So|EYeE

Question Number : 153 Question Id : 6404118473 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The disease caused by deficiency of pyridoxine is

o
-,

2BEPES SO $) ey

Options :



Rickets

= i
L% Bsés amg®
Convulsions
Hewndh Bro
2.
Scurvy
2pBg s
3. &
Beri - Beril
26-230 %58
4. 8

Question Number : 154 Question Id : 6404118474 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Identify the pair which is not correctly matched
(Bob B [ore x8dchatd sotid HBobod
Options :
Aspirin - prevents platlet coagulation

i - ¢ -
©oBS — WBeen KEEY SE5SH N BR0H

1. 8

Histamine - dilates smooth muscle in bronchii

§I°§g§]35 - PHareos) Sy Bolioreid D5B0HT5080
2.

Aspirin - inhibits prostaglandin synthesis

oNBS - EFErodse B08Esi SA508
3. &

Histamine - stimulates the secretion of HC/ in stomach

ETE":&LE - #88%408® HCI a8kerd) e8eddiinoed
4, ® =

Question Number : 155 Question Id : 6404118475 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What are X and Y respectively in the following set of reactions ?
(Bob St 58S X HBai Y oo 555 9 ? (red = B)

Br1,

OH X
N red

- (1) Bry /red P
v
T W H0
O

Options :




Question Number : 156 Question Id : 6404118476 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What are X and Y respectively. in the following set of reactions ?
Bob Stge SSSE X Héain Y en Stidre 20 7 (light = =008)

(i) NaNO, / HC7

_ i i CH;
273 - 278K ®  (i)NaNO,/HCI
.. ; 273-278K
(1) Cu,Br, / HBr X
P (1) C,HsOH

(1i1)Br, / UV light

Options :

CH; CH;
S
OH Br
1. 8
CH;
opie
S ,
Br
2.
~ Br CH;
%5 I
OH Br

3. &



7
Br |

B b
: Br

4.%

Question Number : 157 Question Id : 6404118477 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What is Z in the given reaction sequence ?

=& Soog Bios® Z 06 ?

36 (2)H,0,H,0,,0H

Options :

CH3—C|‘:N—0H

CH;

1. %

CH;3;CH,CH=N -OH
2. ¢

CH; - CH, -CH, - NH,
3%

CH; -CH, —-NH-CHj3
4. ®

Question Number : 158 Question Id : 6404118478 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following compounds give salt of an acid and alcohol on heating
with concenrated KOH ?

Bob & Saygardy ey KOH & 3833 eigo @nk) eerd) 50650 septsin siiod?
= = - W o

[==
Options :
Formaldehyde
| v LTS

Acetaldehvde

w23 rE
2.8 G =
Acetone

DS
3. %

Acetophenone

eSS



Question Number : 159 Question Id : 6404118479 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

What are X and Z in the following reaction sequence ? (X forms sodium alkynide.)

’ ' / .
| partial reductlon# o H-O/H . TR
(CiTTg)

Bod STy (E0oS® X 0cin Z ev 3 ? (X P&aho o8& 5508, )

FEE EohEsemo H,O/H"
X -Y VA
(C4Hg)

Options :

CH5C = CCH;., CH;CH,CH(OH)CHj,

1. %
CH;C = CCH;, CH3CH,CH,CH,O0H
2. &
CH;3;CH,C=CH, CH3CH,CH(OH)CHj;
3.9
_ CH3CH,C =CH, CH3CH,CH,CH,OH
4.

Question Number : 160 Question Id : 6404118480 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Identify the amide which gives propan-1-amine by Hoffmann bromamide reaction.
SHHS FEHHPE SEE° (EPHS-1-abS B =3 HED HBoSHE.
Options :
(0]

CH; —CH, —C—NH,

0

|
CH; —-CH-C—-NH,
|
CH;

CHy—CH, ~CH, — T —NE;

I
3.9 o



4.

CHS—C‘HE—(l“—NH—CHS
0



